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3. F - BN 4T 1 (10%)
Int F (intn) {
if (n=0) return 0;
if (n=1) return 1,
if (n=2) return 2;
return (F(n-1)-F(h-2) + F (n-23));
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4, - Ba#EcY (8 b)ysike T &x4e™ 1 (10%)
Y(a, b) =0, # a<b

Y@ b)=Y@-bb)+1, ®a=b
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1. 8- CE 2 ke Sl N7(erd 2 can =3 & - (10%)

2. T A|URit BB (sorting)iz A, >t 4 24 c(stable) ? (5%)
®Selection Sort @Bubble Sort  ®Quick Sort

@Merge Sort

5. Demonstrate the insertion of the key 5, 28, 19, 15, 20, 33, 12, 17, 10 into a hash table which
collision resolved by chaining. Let the table have 9 slots, and let the hash function be h (k) mod 9.
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7. i& B insert T 7| integers ¥ -
(1) 34 WA T % % « (5%)
(2) &Kis > &5 delete7,2, 7 3% BT 2% o (5%)

# 7 = binary search tree, 7,2, 9,0, 5,6, 8,1

=

. Draw the expression tree and find the infix and prefix expressions for the following postfix
expression : AB*CD/+EF-* (15%)

. T T s B a‘ﬁ T 7 =t #e o (5%)
for(i=1;i<=n;i++)

for(j=1;j<n;j++)

ans=ans+1;




